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3 Vaz=T Ju R—L—A
4 T~ =T 60 R—/LL— L
b Vaz=y Ju R—/LL—2A
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13 7'v JCF/u—X 707 AV
14 7va JCFZm—X R—/L )L — LA
15 Va=7 Vn 57

16 break

17 Va=7 Yua 77

18 7'v JCFZ7m—X R—/L /L — LA
19 Va=7 Yua 77
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22 Va=7 ITUT AV

23 break
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25 7'a =7 R—lb—2L
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31 BOE T4 —7
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M T~ A= TTLT AV

Round

1R T3k

YEIR IS 1048 1H
1RTiE 224 2H
s 6#® 1H
1RTiE 144 1H
1KkTiE 10 1H
YEIR S 10# 11
2T 18 2H
wr B 6 1H
1KRTiE 13# 1H
1KRTi®E 234 2H
1KRTiE 124 1H
YEIR S 124 1H
20k TiE 184 2H
s 6#® 1H
1RMAER) 9 1 H
YEIR S 124 11
1KRTiE 11 1H
YEIR S 114 11
YEIR S 124 11
YEIR S 124 11
R 6 1H
YEIR IS 124 11
1kTi® 554 5H
1RTi®E 7244 6H
1KRTiE 194 2H

6up WT
18w WTF

BT W T

12vw WTF
10bL WTQ

6 WT Q
12 WTF
JERE W T Q

HD(VriE) Q

13t CS P
18 WF Q
12w CS

6u CS
12 WF Q
lEf C S
6 CSR
6 WTF
11w CSR

6 CSR
6 WTF
6w CSP
IRz C SR
6 WF Q

HD(VuiE) C

48up CSRP
48 Uup WTF Q
12t CSRP

fEBAT

ith %%
2 i

2 h
6
2 h
3
3

3
6
3
1
3
6
2 h

2 h
6
2 h
3
3
3

3 i
3 i
3 i
3 i
3 i
1
14
3 i
20
24
8 i

Time
3
3
3
9%
4 %
5%
5%
3
5%
9%
5%
8
5%
9%
3
3
3
9%
4 %
5%
5%
5%
3
5%
5%
5%
5%
5%
8
61 %
155
31
37T
13



J— LR VAT = AT (73 USURT Y AT B EERTEF (5B
XN T I =< A=A ABRFMERE ZALT—T )L 2

-
[y Sl L
FATRIFQRE—F  5HEAQRA—
B No AUk Round  #¥k Heet Up FhH th#  Time
14:06 35 7~ A —7v A—L—Ah 1RTE 414 41 24 WTFQ 16 i

14:31 36 v A —F> F7oTAVA 20k ¥ 48#4 41 24up CSRP 16
14:56 37 7m A —7v R—1L—A 2RTi® 484 41 24 WTFQ 16
15:21 38 7~ A—7v R— L )b—2A 2T 244 21 120k WTFQ

— o DN DO
w o GG
R

o
=

16:18 43 break

o
&

16:41 45 break 10 &
16:51 46 FLIT LT EL AR —I gy 14w 59 %
17:50 47 T4 — 50 &

RO KERST A—T =07 —F BB

21:30 67 iz



